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There are in all 26 questions in this question paper. All questions
are compulsory.

st &g FreiRa sic 75 TR aifted £

Marks allotted to the questions are mentioned against them.
YIS T3 B LEe Uied T Tfud TR alfore|

Read each question carefully and answer to the point.

e T 1 SEfaeedd Y &1 39 U9 & T @Us & IR H UK fawed
2 e &1 T8 ey s STRyRawr # faRee| s W 2 9 7 76
i 3T T &

Question No. 1 is multiple choice question. Four options are given
in answer of each part of this question. Write correct option in your
answer book. Question No. 2 to 7 are definite answer type
questions.

S TRT 1 BT D TUE TP 37 Bl &| T2 W1 2 } 7 TP U 3 &
o | oo AT 8 ¥ 14 I A 31 b YT &1 Y AT 15 3 20 TP <A
375 % W ¥ W T 21 | 26 G TR 3 B YA &

Each part of Question No. 1 carries one mark. Question No. 2 to 7
are of one mark each. Question No. 8 to 14 are of two marks
each. Question No. 15 to 20 are of three marks each. Question
No. 21 to 26 are of four marks each.

=7 Fo-TA & Y R IS (oped Tl & aenfl i Fe H SR faded
e fopan T &1 XY wgA § $ad U fabed &l & IR Aot

There is no overall choice in this question paper, however, an internal
choice has been provided in few questions. Attempt only one of

the given choices in such questions.
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3T Ur5YH H x¥ B TTd & o7 F by foreir?

How would you write x¥ in Python as an expression?

() xny @) 2 x=ty

(i) x~Ay (iv) 379 ¥ @I T8l / None of these
fob<t e d1 TRHTST I B & forw febwy drag o1 3wainT g i &2
Which keyword is used to begin the definition of a function?

(i) define (i) func

(ii) def : (iv) function

=1 7 9§ Bl a1 G R o) awrg s = & fore 3w oo e &2

Which of the following function is used to find the length of the string?

(i) length () -~ (ii) len() (iii) strlen() (iv) slen()
=1 9 3 i fore o1 wifpan 781 &2

Which of the following is not list operation?

(i) Indexing (ii) Slicing

(iii) Dividing (iv) Concatenation
fFr=feRea & & @ a1 ve el T8l &7

Which of the following is not a protocol?

(@) ETP (i) HTTP

(i) TELNET (iv) ATP

v Retema Scea ¥ fe &1 g g -

A relational database consist of a collection of following:
(i) Tupels . (i) Attributes

(iii) Relations (iv) Keys

[2]




(@) e D S 1 Pies e 37 1T B T Ho @1 Fahid BT R? 1
Which of the following field referred to the primary key of another table?
(i) Alternate key (i) Primary key
(iii) Candidate key (iv) Foreign key

(31) foa P &1 3udnT wisier URpdl & 9 @ g & fore fosa S @2 1

Which command is used to change the values of an existing rows?

(i) change (i) modify

(ii) alter (iv) update
<) T § T BIE) TR SIS DI FAT Had &2 1
What is the smallest individual unit in a program called?
=1 @1 3M3eye T BmT? 1
What will be the output of following:
int ("3"+"4")
S T TS TeeT a1 A SATE T R G b A R 3 T ST ey
@I 3TTTADHAT BNl 1

Name the python library modules which need to be imported to used the following
function-

(i) sin()

(i) randint()

"W TOIT "a" BIEe HIS & a1 H F9T 3R &P 1
What is the difference between "w" and "a" file modes?

aifere @ gfere dREdT 1 g & fere fowt aeifar T T foar S &2 1
Which clause is used to remove the duplicating rows of the table?

P SQL aTeaaT o 3UAN IE fEa B & fore fosar st & fo feh wretw # Rep
HH &1 8 Fpa1? 1
Which SQL constraints is used to ensure that a column canno; have the NULL

value?
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8. = @18 &1 3m3eye sid B i 2
Find the output of the following code:
E={13, 12, 21,:16,:35, 7,4}

S=5
S1=3
Foriin L:
if (% 4==0):
S=S+i
continue
if (i% 7==0):
S1=S1+i
print (S, end="")

print (S1)
9. 3RadHIT 3R tReca 3e1 v@R 71 €2 UIge & BB suRad=ia 3k tRada e
BRI B el FE | 2

What are immutable and mutable data types? List some immutable and mutable
datatypes of python.
10. U A ford 51 $Ye S & W @M W 9 fiie o s s e aRl 2
Write a program that print true if the input number is even otherwise print false.
11. @R F 3t & veam Sifse- 2
Identify the error in the following code:
30=T
For K in range (0,T)
If k%4==
print (K*4)
Else

print (K+3)

444 Q1Y) [4]
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14.

15z

16.

157

18.

frrfeiaa o grr = fafae- : 2
Expand the following terms:

(i) SMTP

(i) FTP 4

fr=feRaa Bwi &1 DDL 3R DML & %0 | aifigd dlioTa- 2
Categorize the following commands as DDL and DML~

Insert, Drop, Delete, Alter, Update, Create

SQL # where 3iR having dtst & dIF 3R DI 2

Differentiate between where and having clause in SQL.

R 7T 27 ) T &1 haeIRad 5i1d &= & fore Ropiia ors fafae| 3
What is recursion? Write a recursive code to find the factorial of a number.
e UTgYH W fafae S a8 e e 6 & w8 s dieig @ ar =g 3

Write a Python program to check that a given number is palindrome or not.
oo S fRau 3 SwainTaat gRT & TS a9 T & 39K "data.csv” I Repis @l
"data.csv" H g T RBE oI AT Admno, Name, Class, Section 3R Marks &I
3
Write a program to sedrch the record from "data.csv" according to the admission

number given by the user. Structure of record saved in "data.csv" is Admno,
Name, Class, Section and Marks.
31d1/OR
s o ferfae 3 "Old.csv" & "New.csv" # 2T Pl BRI
Write a program to copy the data from "Old.csv" to "New.csv".
o oo @1 SR BT # Wb Reifdl & Sl TROT 1 FERid R Hedic biford- 3
Evaluate the following expression in tabular form showing stack status after
every step-
50; 60, +,20 10, =
' 37251/ OR
RrefRad shead ot BT 53b THDE! TNethad Fisid 3 Saicid-
Convert the following infix expression to its equivalent postfix expression-
A+B*(C-D)/E
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20

21,

22:

Define the following-

(i) WRIRAA (Firewall)

(i) g (Spam)

(iii) TS AWRTY (Cyber Crime)

RDBMS &I URHINT BIfSTE| RDBMS & 4T @l &7 3
Define RDBMS. What are the advantages of RDBMS?

T I8 B Wb H T2 IR 3R Kb I v A1 &1 uiw o=y & fore vas v e, e
Wb S TP 18 H ¥R &1 AW 3R 96 &1 fi wnfiye 2 4

Write a program to push a node into the stack and pop a node from the stack,

where each node of a stack contains the name of city and pin of city.
3AYdAi/OR

TS T feTfRat 51t STARTesT & SR a1 ot web o fobelt e a1 g7 gt & a1 Ufr ot

gl

Write a program that depends upon users choice, either pushes or pops an
element in a stack.
Bact TR (Built-in) hae a1 HisgeT B IUANT SR FrriRad s Hr & e
BIERE RS RTITCIE 4
Write the python statement for each of the following task using Built-in functions
or methods only-
() U foree ‘L' # G IH W U6 ded 100" |t v & forw|

To insert an element '100' at the second position in the list 'L".
(i) I€ Siem & fore i R 's' & a9 31 s & o7 71|

To check whether all the characters in a string 'S' are digit or not.
(i) S="LANGUAGE"

IRIB R B forve & geem & forel

To convert the above string into list.
(iv) T ETell SR 'd' &l sHReEst &= & o

To initialize an empty dictionary named as 'd'.

444 (ITY) [6]
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25:

U% 918K} BIgel "Student.dat" &I T [Admno, Name, Percentage] 21 usee d
UF BaeH countrec() RIRAT 3 "Student.dat" ®TgeT B T 3R 37 BT &1 faavor

- yei3¥fg e 5T ufded 75 9 FR &1 : 4

A binary file "Student.dat" has structure [Admno, Name, Percentage]. Write a
function countrec() in python that would read contents of the file "Student.dat"
and display the details of those students whose percentage is above 75;
3AUdi/OR :
U IS ST RARaE 3 "Notes. txt" Brgel 3 uftpdt & i 31 T 31ar 'M' | g &l
= B
Write a Python program to count those lines from the file "Notes.txt" which are
starting from 'T' or 'M".
fFr=ferRae 3uaRvll & uga™ HifoTe- 4
Identify the following devices-
() 1 v Jeafsn Raew & SR 30N B¢ HRgex & e & fore b S 2
I am a networking device which is used to connect rhultiple computers.
(i) & ue araReN A & 31 v o a1t RBarsw @ ars-BTE e e Rl &
I am a wireless device which provide Wifi access to multiple devices.
iy ¥ o Jeab ¥ waw ik P fig & w9 # S el | ’
I serves as the entry and exit point of a network. :
(v 3 o e 39RO & 31 et R o ffee sk Reften Riwe o1 et
SEAdT &

I am such a device that convert analog signal to digital and digital singal to

analog.

() e 3ik giu BArE & &g SicR St 2
Differentiate between delete and drop commands.

(i) TNT e o1 8ld &7 $B IRTER0T alfor| 2

What are aggregate function? Give some examples.

444 (I1Y) [71] [P.T.O.



26. U [Gemerd & Bt &l GIAT R B & 178 SQL BT 39N B BT vty foram warm By
BT B I IR I ITe 8T Tob-
To access the information of students easily, it is decided to use SQL to store
the school students information.

Data base Name - My School
Table Name - Student

Roll. No. Name Class DOB Gender  City Marks
1 Nanda X 06-06-1995 M Agra 500
2 Saurabh X1 07-05-1993 M Mumbai 462
3 Sanal XI 06-05-1994 E Delhi 400
4 Trisla X1I 08-08-1995 E Mumbai 450
5 Stort X1 08-10-1995 M Delhi 369
6 Marisla XI 12-12-1994 E Dubai 250
7 Neha X 08-12-1995 F Moscow 377
8 Nishant X 12-06-1995 M Moscow 489

3URIh STISH & &R =1 a1 9T &%= & fole SQL @HiE 7 ah-

What will be the SQL command to access following information using above
database-
(i) ©E P 99 & 3RER JoiHTer 559 H 2ae student I RapTs weidia s & fel 1
. To display the records from table student in alphabetical order as per the
name of the students.

(i) Class, DOB 3R City Waf¥fa &= & forw f5rb 3ic 450 9T 500 H ST &Y 1
To display Class, DOB and City whose marks is in between 450 and 500.

(i) &R student BT T&=aT TR HH F o) 1
To count the no. of students classwise.
(iv) 37 T student & 37t # 20 & ghE B B 1w S e X1 2 1

To increase marks of all students by 20 whose class is 'XII'.

%k Xk Xk Xk %k
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